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RI=F LA ¢ 50 5.2 5.2 m
PP/LR ¢ 50 2 2 1
FCD# Fiiied
VI o— )5 ¢ 50 1 1 &
=
Lo JWWA B 132 1 1 &
RIS
g PR25 (K) 2 2 1
-
A RA25 (A) 1 1 JlE|
TR
HE)gpEE RC25(C) 1 1 &
JEERR
e RS25 (S) 1 1 il
SUSa7Ay
MFY a{vh ¢ 50 2 2 1
EF& MY R4k ¢ 100X ¢ 50 1 1 &)
BRT—7 | TAXEL | 5.20 5.2 m
~—H—H 1 1 (e
[7%]
RV F LR T ¢ 50 5.20 5.2 m
TR A%
PPHkTT 50 4+ 1 5 5]
EREET
tH-)rakiE T ¢ 50 1 1 AT
MFY'afvb
AH = F VT T ¢ 50 2 2 m]
MEY'afv/b
TIUVHEET $65LL T 2 2 u]
EFE
Sy KRR T ¢ 100 X ¢ 50 1 1 m}
B RY—PL 5.2 5.2 m
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E
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AR
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CHBAS
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+Ta47° 1-1 S A DIP ¢ 100 DP=0.65m
+ TIER L= 1.2 = 1.2 m
W >
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
—t
g "\ 4 8
A
+ 3 A
| RC-40 =
T Iy
!
!
i W | #EHIfE|[ 0.550
a i DI [&4ME[ 0.118
e IR 1ERM — DP_ | 40| 0.650
H = [y
: RC-40 H1 | #EHIEE] 0.768
= £ i H2 | #HI&| 0.728
BB hl | HEAf| 0.160
iz—t V h [ &= 0418
I o
! S
| —X
| 5| =
—
i Ov 4
!
\L
( 1.2 m H4720%E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.2 m 2.4
A f Fi e T As, t=10cmPL F 0.55 X 1.2 m? 0.7
WoH T Hetk WHE A+ 0.55 X 0.728 X 1.2 m® 0.5
HHEL T RC-40 0.55 X 0.160 X 1.2 m® 0.1
MY RELL i
L T W ( 055 X 0.418 — 0.118 2 X z,/4)X 1.2 m® 0.3
WEER R R
B sy WE+ 0.50 — = 09 m® 0.5
% 3 As 055 X 0.04 X 1.2 m® 0.03
LR | As m® 0.03
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 24 m®| 0.002
B T RC-40, t=16cm 0.55 X 1.2 m? 0.7
AR AS(13)
FEIRT t=3cm 055 X 1.2 m? 0.7

36




+Ta47° 1-2 S A DIP ¢ 100 DP=1.20m
+ TR L= 1.2 = 1.2 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
>
g "\ 4 8
A
I 1 i
| RC-40 =
|
!
i W | #EHIfE|[ 0.550
a i DI [&4ME[ 0.118
e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 [#mieE] 1.318
= £ i H2 | #HI&] 1.278
BB hl | HEEH| 0.710
iz—t V h | &] 0.418
I o
! S
| —X
| 5| =
—
i Ov 4
!
\L
( 1.2 m H4720%E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.2 m 2.4
A f Fi e T As, t=10cmPL F 0.55 X 1.2 m? 0.7
WoH T Hetk WHE A+ 0.55 X 1.278 X 1.2 m® 0.8
HHEL T RC-40 0.55 X 0.710 X 1.2 m® 0.5
MY RELL i
HHRELT W ( 055 X 0418 — 0.118 2 X x,/4)X 1.2 m® 0.3
WEER R R
B sy WE+ 0.80 — = 09 m® 0.8
% 3 As 055 X 0.04 X 1.2 m® 0.03
LR | As m® 0.03
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 24 m®| 0.002
B T RC-40, t=16cm 0.55 X 1.2 m? 0.7
AR AS(13)
FEIRT t=3cm 055 X 1.2 m? 0.7
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+Ta47° 1-3 S A HPE ¢ 100 DP=0.65m
+ TR L= 0.7 = 0.7 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
>
g "\ 4 8
A M N
d . I A
| RC-40 =
|
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e IR 1ERM — DP_ | 40| 0.650
; RC-40 < H1 [#miE] 0.875
= £ i H2 | #HI&| 0.835
BB hl | HEAf| 0.160
iz—t V h |# &] 0525
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 0.7 m %7=v¥E)
4 b iR NI MR g = =V B % &
ERAL T T As, t=15cmPA T 2.00 X 0.7 m 1.4
A f Fi e T As, t=10cmPL F 0.55 X 0.7 m? 0.4
WoH T Hetk WHE A+ 0.55 X 0.835 X 0.7 m® 0.3
HHEL T RC-40 0.55 X 0.160 X 0.7 m® 0.1
MY RELL i
HHRELT W ( 055 X 0525 — 0.125 2 X x,/4)X 0.7 m® 0.2
WEER R R
7 sy WHE 1+ 0.30 — ~ 09 m® 0.3
% 3 As 055 X 0.04 X 0.7 m® 0.02
LR | As m® 0.02
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 004 X 1.4 m’| 0.001
B T RC-40, t=16cm 0.55 X 0.7 m? 0.4
AR AS(13)
FEIRT t=3cm 0.55 X 0.7 m? 0.4
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+Ta47° 1-4 S A HPE ¢ 100 DP=0.90m
+ TR L= 37.1 = 37.1 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
— >
g N % S
A
! . | A
| RC-40 =
T Iy
!
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#mieE] 1125
= £ i H2 | #HI&| 1.085
BB hl | HEH| 0.410
iz—t V h |# &] 0525
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 37.1 m H47=0HE)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 37.1 m 74.2
A f Fi e T As, t=10cmPL F 0.55 X 37.1 m? 20.4
O T etk AV 1 0.55 X 1.085 X 37.1 m’ 22.1
HHEL T RC-40 0.55 X 0.410 X 37.1 m® 8.4
MY RELL WAL
M RELTL i ( 055 X 0525 — 0.125 2 X x,/4)X 37.1 m’ 10.3
WEER R R
7 sy e+ 22.10 — ~ 0.9 m® 22.1
% 3 As 0.55 X 0.04 X 37.1 m® 0.82
LR | As m® 0.82
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 74.2 m®| 0.068
B T RC-40, t=16cm 0.55 X 37.1 m? 20.4
AR AS(13)
FEIRT t=3cm 0.55 X 37.1 m? 20.4
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+ 1447 A E LA HPE ¢ 100 DP=1.20m
+ TIER = 1.8 = 1.8 m
W
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
—t
g "\ 4 8
i tT A
i REET o
| ©
| RC-40 =
i A
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e IR 1ERM — DP_ | 40| 1.200
I RC-40 < H1 [#mieE]  1.425
= £ i H2 | #HI&| 1.385
BB hl | HEEH| 0.710
iz—t V h |# &] 0525
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 1.8 m H47=0#E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.8 m 3.6
A f Fi e T As, t=10cmPL F 0.55 X 1.8 m? 1.0
o T Hetk WHE A+ 0.55 X 1.385 X 1.8 m® 1.4
HHEL T RC-40 055 X 0.710 X 1.8 m® 0.7
MY RELL i
HHRELT W ( 055 X 0525 — 0.125 2 X x,/4)X 1.8 m® 0.5
WEER R R
B sy WE+ 1.40 — = 09 m® 1.4
% 3 As 055 X 0.04 X 1.8 m® 0.04
LR | As m® 0.04
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 3.6 m®| 0.003
B T RC-40, t=16cm 0.55 X 1.8 m? 1.0
AR AS(13)
FEIRT t=3cm 055 X 1.8 m? 1.0
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+ 1447 A E LA PP ¢ 40 DP=0.90m
+ TIER = 2.0 = 2.0 m
W
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
%
g "\ 4 8
i | —
| RC-40 =
i
!
i W | #EHIfE|[ 0.550
a i D1 [&E4ME[ 0.048
e IR 1ERM — DP_ | 140 | 0.900
I RC-40 < H1 [#mieE] 1.018
= £ i H2 | #HI&| 0.978
LS hi |#5H] 0.380
iz—t V h | & 0.448
I o
i S
| —X
l | =
i E— 4
OA
H o
| sl 4 y
!
\ @D
( 2.0 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 2.0 m 4.0
A f Fi e T As, t=10cmPL F 0.55 X 2.0 m? 1.1
WoH T Hetk WHE A+ 0.55 X 0.978 X 2.0 m® 1.1
HHEL T RC-40 0.55 X 0.380 X 2.0 m® 0.4
MY RELL i
HHRELT W ( 0.55 X 0.448 — 0.048 2 X x,/4)X 2.0 m® 0.5
WEER R R
B sy WE+ .10 — = 09 m® 1.1
% 3 As 055 X 0.04 X 2.0 m® 0.04
LR | As m® 0.04
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 4.0 m®| 0.004
B T RC-40, t=16cm 0.55 X 2.0 m? 1.1
AR AS(13)
FEIRT t=3cm 0.55 X 2.0 m? 1.1
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+Ta47° 2-1 S A DIP ¢ 100 DP=1.20m
+ TIER L= 1.3 +1.0 = 2.3 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
>
g N 3
+ 3 A
| RC-40 =
T Iy
|
|
i W | #EHIfE|[ 0.550
a i DI [&4ME[ 0.118
e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 [#mieE] 1.318
= £ i H2 | #HI&] 1.278
BB hl | HEEH| 0.710
iz—t V h | &] 0.418
I o
! S
| —X
l | =
‘ —
i Ov 4
!
\L
( 2.3 m H7=viE)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 23 m 1.6
A f Fi e T As, t=10cmPL F 0.55 X 2.3 m? 1.3
o T Hetk WHE A+ 0.55 X 1.278 X 2.3 m® 1.6
HHEL T RC-40 0.55 X 0.710 X 2.3 m® 0.9
MY RELL i
L T W ( 055 X 0418 — 0.118 2 X x,/4)x 2.3 m® 0.5
WEER R R
7 - hsy WE+ 1.60 — = 09 m® 1.6
% 3 As 055 X 0.04 X 2.3 m® 0.05
LR | As m® 0.05
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 46 m®| 0.004
B T RC-40, t=16cm 0.55 X 2.3 m? 1.3
AR AS(13)
FEIRT t=3cm 0.55 X 2.3 m? 1.3
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+ 1447 A E LA DIP ¢ 100 DP=1.20m
+ TIER = 1.0 = 1.0 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
— >
g "\ 4 8
A
+ 3 A
| RC-40 =
i A
!
i W | #EHIfE|[ 0.550
a i DI [&4ME[ 0.118
e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 [#mieE] 1.318
= £ i H2 | #HI&] 1.278
BB hl | HEEH| 0.710
iz—t V h | &] 0.418
I o
! S
| —X
1 | <
—
i Ov 4
!
\L
( 1.0 m 47=0%E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 1.0 m 2.0
A f Fi e T As, t=10cmPL F 0.55 X 1.0 m? 0.6
o T Hetk WHE A+ 0.55 X 1.278 X 1.0 m® 0.7
HHEL T RC-40 055 X 0.710 X 1.0 m® 0.4
MY RELL i
HHRELT W ( 055 X 0418 — 0.118 2 X x,/4)X 1.0 m® 0.2
WEER R R
7 sy WHE 1+ 0.70 — ~ 09 m® 0.7
% 3 As 055 X 0.04 X 1.0 m® 0.02
LR | As m® 0.02
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 2.0 m®| 0.002
B T RC-40, t=16cm 0.55 X 1.0 m? 0.6
AR AS(13)
FEIRT t=3cm 055 X 1.0 m? 0.6
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+Ta47° 2-3-1 S A HPE ¢ 100 DP=0.90m
+ TR L= 40.1 +22.1 = 62.2 m
W P>
1EHl | BR
—F >
FH
|
i
i
i
i
|
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e WAIEY] BREM — DP_ | 140 | 0.900
; RC-40 < H1 [#mieE] 1125
= £ i H2 | #HI&] 1.125
BB hl | HEA| 0.600
iz—t v h |# &] 0525
I o
i 8y
i El}‘ ry
1 a| <
—
! S
! A4 y
\ ¢D
( 62.2 m M7-0EE)
4 b IR /NI N B = =V B % &
SfEEEINT 1T As, t=15cmPA T

EEERREUE T As, t=10cmPA T

W oE T et W+ 055 X 1.125 X 62.2 m 38.5

HHEL T RC-40 0.55 X 0.600 X 62.2 m® 20.5

MY RELL WAL

HDREL T w (055 X 0525 — 0.125 2 X x,/4)X 62.2 m’ 17.2
LR R

7 sy WHE 1+ 38.50 — ~ 09 m® 38.5
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+ T % & %

+Ta47° 2-3-2 S A HPE ¢ 100 DP=0.90m
+ TR L= 8.2 +61.0 = 69.2 m
] N
BEE%As t=4om JEHl | BR /_@EIEI BAEFHAs t=3cm
—] >
g N 3
| RC-40 -
i
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e IR 1ERM — DP_ | 140 | 0.900
I RC-40 < H1 [#mizE] 1.095
= £ i H2 | #HI&| 1.055
BB hl | HEEAf| 0.380
iz—t h |# &] 0525
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4
!
\L
( 69.2 m H47=0HE)
4 b iR NI MR g =1 =V B % &
SR T As, t=15cmLL F 2.00 X 69.2 m | 1384
A f Fi e T As, t=10cmPL F 0.55 X 69.2 m? 38.1
O T etk AV 1 0.55 X 1.055 X 69.2 m’ 40.2
HOREL T RC-40 0.55 X 0.380 X 69.2 m® 14.5
MY RELL i
HDREL T w ( 055 X 0525 — 0.125 2 X x,/4)X 69.2 m’ 19.1
WEER R R
7 sy e+ 40.20 — +~ 0.9 m® 40.2
% 3 As 0.55 X 0.04 X 69.2 m® 1.52
LR | As m® 1.52
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 138.4 m’| 0.127
B T RC-40, t=16cm 0.55 X 69.2 m? 38.1
AR AS(13)
FEIRT t=3cm 0.55 X 69.2 m? 38.1
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+ 1447 A E LA HPE ¢ 100 DP=1.20m
+ TR = 1.7 +1.3 = 3.0 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
>
g N 4 8
A
+ L A
| RC-40 -1
i A
!
i W | #EHIfE|[ 0.550
a i DI [&E4ME[ 0.125
e IR 1ERM — DP_ | 40| 1.200
I RC-40 < H1 [#mieE]  1.425
= £ i H2 | #HI&| 1.385
BB hl | HEEH| 0.710
iz—t V h |# &] 0525
I o
| S
| —X
l | =
‘ —
o
i Sy oy
!
\ @D
( 3.0 m %7=v¥E)
4 b ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 3.0 m 6.0
A f Fi e T As, t=10cmPL F 0.55 X 3.0 m? 1.7
WoH T Hetk WHE A+ 0.55 X 1.385 X 3.0 m® 2.3
HHEL T RC-40 0.55 X 0.710 X 3.0 m® 1.2
MY RELL i
HHRELT W ( 055 X 0525 — 0.125 2 X x,/4)X 3.0 m® 0.8
WEER R R
B sy WE+ 230 — = 09 m® 2.3
% 3 As 055 X 0.04 X 3.0 m® 0.07
LR | As m® 0.07
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 6.0 m®| 0.006
B T RC-40, t=16cm 0.55 X 3.0 m? 1.7
AR AS(13)
FEIRT t=3cm 0.55 X 3.0 m? 1.7
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+Ta47° 2-5 S A HPE ¢ 75 DP=0.90m
+ TIER L= 2.0 = 2.0 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
— >
g "\ 4 8
A
+ 3 A
| RC-40 =
i
!
i W | #EHIfE|[ 0.550
a i D1 [&4M%[ 0.090
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miEE] 1.060
= £ i H2 | #HI&] 1.020
BB hl | HEH| 0.410
iz—t h |# &] 0.490
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\ @D
( 2.0 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 2.0 m 4.0
A f Fi e T As, t=10cmPL F 0.55 X 2.0 m? 1.1
WoH T Hetk WHE A+ 0.55 X 1.020 X 2.0 m® 1.1
HHEL T RC-40 0.55 X 0.410 X 2.0 m® 0.5
MY RELL i
HHRELT W ( 0.55 X 0.490 — 0.090 2 X x,/4)X 2.0 m® 0.5
WEER R R
7 sy WHE 1+ .10 — ~ 09 m® 1.1
% 3 As 055 X 0.04 X 2.0 m® 0.04
LR | As m® 0.04
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 4.0 m®| 0.004
B T RC-40, t=16cm 0.55 X 2.0 m? 1.1
AR AS(13)
FEIRT t=3cm 0.55 X 2.0 m? 1.1
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+Ta47° 2-6-1 S A PP ¢ 50 DP=0.90m
+ TIER = 2.5 = 25 m
W P
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
— >
g "\ 4 8
+ 3 A
| RC-40 =
i
|
i W | #EHIfE|[ 0.550
a i D1 [&4M%[ 0.060
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miEE] 1.060
= £ i H2 | #HI&] 1.020
BB hl | HEH| 0.410
iz—t V h |# &] 0.460
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 2.5 m H7=viE)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 200 X 25 m 5.0
A f Fi e T As, t=10cmPL F 0.55 X 2.5 m? 1.4
o T Hetk WHE A+ 0.55 X 1.020 X 25 m® 1.4
HHEL T RC-40 0.55 X 0.410 X 25 m® 0.6
MY RELL i
HHRELT W ( 0.55 X 0.460 — 0.060 2 X x,/4)X 2.5 m® 0.6
WEER R R
7 sy WHE 1+ 1.40 — ~ 09 m® 1.4
% 3 As 055 X 0.04 X 25 m® 0.06
LR | As m® 0.06
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 5.0 m®| 0.005
B T RC-40, t=16cm 0.55 X 2.5 m? 1.4
AR AS(13)
FEIRT t=3cm 055 X 25 m? 1.4
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+Ta47° 2-6-2 S A PP ¢ 50 DP=0.90m
+ TR L= 2.2 = 2.2 m
W P
1EHl | BR
— >
i
i
i
i
|
!
i W | #EHIfE|[ 0.550
a i D1 [&4M%[ 0.060
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miEE] 1.060
= £ i H2 | #HI&| 1.060
BB hl | HEA| 0.600
iz—t h [ # & 0.460
I o
i S
B| —
| 5| =
—
! 8
! A4
\L
( 2.2 m HEhEE)
4 b IR /NI N B =1 =V B & &
SfEEEINT 1T As, t=15cmPA T
L IRIDUE T As, t=10cmPL T
o T Hetk WHE A+ 0.55 X 1.060 X 2.2 m® 1.3
HHEL T RC-40 0.55 X 0.600 X 2.2 m® 0.7
HHRL T b
HHEL T I ( 055 X 0.460 — 0.060 2 X x,/4)X 2.2 m® 0.6
WEIR L
B sy WE+ 1.30 — = 09 m® 1.3
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+Ta47° 2-7-1 S A PP ¢ 25 DP=0.90m
+ TIER = 2.5 = 25 m
] N
BEE%As t=4om JEHl | BR /_@EIEI BAEFHAs t=3cm
—] >
g "\ 4 8
+ 3 A
| RC-40 =
T Iy
|
|
i W | #EHIfE|[ 0.550
a i D1 [#E4M%[ 0.034
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miE] 1.034
= £ i H2 | #HI&] 0.994
BB hl | HEH| 0.410
iz—t V h | & 0.434
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 2.5 m H7=viE)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 200 X 25 m 5.0
A f Fi e T As, t=10cmPL F 0.55 X 2.5 m? 1.4
o T Hetk WHE A+ 0.55 X 0.994 X 25 m® 1.4
HHEL T RC-40 0.55 X 0.410 X 25 m® 0.6
MY RELL i
HHRELT W ( 055 X 0434 — 0034 2 X x,/4)X 2.5 m® 0.6
WEER R R
7 sy WHE 1+ 1.40 — ~ 09 m® 1.4
% 3 As 055 X 0.04 X 25 m® 0.06
LR | As m® 0.06
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 5.0 m®| 0.005
B T RC-40, t=16cm 0.55 X 2.5 m? 1.4
AR AS(13)
FEIRT t=3cm 055 X 25 m? 1.4

50




+Ta47° 2-7-2 S A PP ¢ 25 DP=0.90m
+ TR L= 3.2 = 3.2 m
] .
1EHl | BR
>
i
i
i
i
i
|
i W | #EHIfE|[ 0.550
a i D1 [#E4M%[ 0.034
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miE] 1.034
= £ i H2 | #HI&| 1.034
BB hl | HEA| 0.600
iz—t h | & 0.434
I o
i =1
m| —
| 5| =
—
! S
! A4
\ ¢D
( 3.2 m YvEE)
4 b IR /NI N B =1 =V B & &
SfEEEINT 1T As, t=15cmPA T
L IRIDUE T As, t=10cmPL T
o T Hetk WHE A+ 0.55 X 1.034 X 3.2 m® 1.8
DL T RC-40 0.55 X 0.600 X 3.2 +05 0.19 X 0.7 m® 1.1
HHHREL T b
HHEL T I ( 055 X 0434 — 0.034 2 X z,/4)X 3.2 m’ 0.8
WL R R
7 sy WHE 1+ 1.80 — = 09 m® 1.8
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+Ta47° 2-8 S A PP ¢ 20 DP=0.90m
+ TIER L= 5.3 = 5.3 m
] N
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
—] >
g "\ 4 8
A . | A
| RC-40 =
|
|
i W | #EHIfE|[ 0.550
a i D1 [&E4ME[ 0.027
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#migE] 1.027
= £ i H2 | #HI&| 0.987
BB hl | HEH| 0.410
iz—t V h | & 0427
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\L
( 5.3 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 5.3 m 10.6
A f Fi e T As, t=10cmPL F 0.55 X 5.3 m? 2.9
o T Hetk WHE A+ 0.55 X 0.987 X 5.3 m® 2.9
HHEL T RC-40 0.55 X 0.410 X 5.3 m® 1.2
MY RELL i
HHRELT W ( 055 X 0.427 — 0.027 2 X x,/4)X 53 m® 1.2
WEER R R
7 sy WHE 1+ 2.90 — ~ 09 m® 2.9
% 3 As 055 X 0.04 X 5.3 m® 0.12
LR | As m® 0.12
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 10.6 m’| 0.010
B T RC-40, t=16cm 0.55 X 5.3 m? 2.9
AR AS(13)
FEIRT t=3cm 0.55 X 5.3 m? 2.9
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+Ta47° 2-9-1 S A PP¢ 13 DP=0.90m
+ TR L= 4.2 = 4.2 m
W P>
1EHl | BR
>
FH
i
i
i
i
|
|
i W | #EHIfE|[ 0.550
a i D1 [E4ME[ 0.022
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#mizE]  1.022
= £ i H2 | #HI&| 1.022
BB hl | HEA| 0.600
iz—t h [ w & 0.422
I o
i S
B| —
1 | <
1
! 8
! A4
\ #D
( 4.2 m HB7o¥E)
4 b IR /NI N B =1 =V B % &
SfEEEINT 1T As, t=15cmPA T
L IRIDUE T As, t=10cmPL T
o T Hetk WHE A+ 0.55 X 1.022 X 4.2 m® 2.4
HHEL T RC-40 0.55 X 0.600 X 4.2 m® 1.4
HHRL T b
HHEL T I (055 X 0422 — 0.022 2 X x,/4)X 4.2 m® 1.0
WEIR L
B sy WE+ 240 — = 09 m® 2.4
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+Ta47° 2-9-2 S A PP¢ 13 DP=0.90m
+ TR = 16.1 = 16.1 m
] N
BEE%As t=4om EHl | BR /_@EIEI BAEFHAs t=3cm
—] >
g N 4 8
+ 3 A
| RC-40 =
i
!
i W | #EHIfE|[ 0.550
a i D1 [E4ME[ 0.022
e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#miE] 0.992
= £ i H2 | #HI&| 0.952
BB hl | HEEAf| 0.380
iz—t V h | & 0.422
I o
! S
| —X
| 5| =
BE—-—
H o
| sl 4 y
!
\ @D
( 16.1 m %47=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 16.1 m 39.2
A f Fi e T As, t=10cmPL F 0.55 X 16.1 m? 8.9
o T Hetk WHE A+ 0.55 X 0.952 X 16.1 m® 8.4
HHEL T RC-40 0.55 X 0.380 X 11.9 m® 2.5
MY RELL i
HHRELT W (055 X 0.422 — 0.022 2 X x,/4)X 16.1 m® 3.7
WEER R R
B sy WE+ 8.40 — = 09 m® 8.4
% 3 As 0.55 X 0.04 X 16.1 m® 0.35
LR | As m® 0.35
F&AEH(t/m) ARG (n) AL Fe(n)
TG URIENE - 25> T 0.023 X 0.04 X 32.2 m®| 0.030
B T RC-40, t=16cm 0.55 X 16.1 m? 8.9
AR AS(13)
FEIRT t=3cm 0.55 X 16.1 m? 8.9
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